SOFT BARCLAMP

U=MOSI



720 SBC IS THE PRIME CHOICE /
OF HANDLEBAR CLAMPS ,\\

Easy to Install
Takes less than 10 min to install

720 SBC Soft Bar Clamp System Installation

Watch our installation video on youtube - Robert Urmosi - Dirt Bike and ATV

AVAVA

) /4

Premium Quality

Anodized Surface Finish Adjustable height

front and back
The clamp can be mounted
to be closer or away from
the rider. Height can be
adjusted with additional
accessory spacers

Universal fit for most
ATVs and Dirt Bikes )

CNC- Machined from The rubber insert is especially
High-Strength Aluminum developed to give maximum

flexibility and durability to
eliminate arm pumps

Page 1 Page 2



720 SBC Soft Bar Clamps Adapter
Kits For Different Types of ATVs

If you purchased any of these kits for your ATV, install
the kit onto your steering stem before installing
the 720 Clamp System.

Q Q

Yamaha YFZ450 Stock
Steering Stem Adapter
kit 4.5mm

Handlebar Riser Kit
Each block raises the -
handlebar 13mm

)

(For ATV and Dirt Bikes.

Page 3

Aftermarket steering
stem adapter kit. Houser,
Walsh Steering System.
Thickness: 10mm

Distance between the
center of the holes 99mm.

Yamaha Raptor 700
Adapter kit
Thickness: 23.5mm
Apply semi-permanent
thread locking fluid
(Blue Loctite) when
installing the

adapter bolts.




720 SBC - Parts

<)

11

O O

it
.
o

I
O

O

L e

O

1. Outer Lower Base Clamp
2. Outer Lower Base Clamp Bolts M10
3. Outer Upper Clamp
4, Outer Upper and Inner Clamp Bolts M8
5. Rubber Bushing
6. Inner Lower and Upper Clamps
7. Spacer Tool
Page 5

Remove the current Handlebar clamp before installing your 720 SBC

1

Outer Lower Base Clamp
Attach the outer lower base
clamp to the triple clamp with
(#2) bolts and washers.

Apply semi-permanent thread
locking fluid (Blue Loctite).

2

Bolts 10mm x 90mm
Outer lower base clamp bolts
and washers.

OO 3

Place the handlebar in to
Bolts # 2 Hex wrench size: M10 the lower base clamps.

4

Outer Upper Clamp

Attach the outer upper clamp
to the outer lower base clamp
with (#4) bolts and washers.

Page 6



Iits. ..

Apply semi-permanent
thread locking fluid (Blue Loctite)
when installing bolts (#4).

Bolts # 4 Hex wrench size M6

6

Rubber Bushing

Place the rubber bushing on
the handlebar and slide it into
the outer clamps.

yn ol

Inner Lower and Upper Clamps
Mount the inner lower and upper
clamp onto the handlebar

with (#4) bolts and washers, then
slide it into the rubber bushings
(Bolts should face up).

Slide #6 into the rubber bushings then place #7 between
the two inner bar clamps then tighten all #4 bolts.

| 8

Spacer Tool
Place the spacer tool
between the two inner
= clamps to set up the
{ handlebar. Tighten the
clamp bolts down.
Torque to 24 Ib. ft.

Enjoy Your Ride! - Robert Urmosi

Page 8

Page 7



i

—— e =

- .. %
SRt oy
S DA vt it e . a2k PR *
B

,n




